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XED X =
RR(PH) =E4 RE(PIH) % PR (AR JAL  [JTA/RAC| 20,700 69%  |$£:25,500, 1:25,800
=i P48 (FRER) | JTA/RAC|  JAL 19,500 71%  [A£+:19,700. B:25,100
B (FHE) =R R (PIHE) % (AR JAL | JTA/RAC| 21,200 71%  $:26,000, 1:26,300
KB (REE) JAL JTA 25,200 69% | A 1:28,300, £:28,100, H:24,300
aiEH SP#E(ARER) | JTA/RAC|  JAL 20,400 72% | H:25,700
KB (FFH =% &3 KR (771 % RIR(PH) JAL JAL 23,600 68% | H:24,000, £:23,100, £:23,200, H:24,600
FLIR (BT F %) JAL JAL 25,600 64% | F:26,800, &:26,100, £:27,500, H:22,400
s FE] RE(CHHA) JAL JAL 22,600 69% | H7A:23,000, £:23,200, +:22,200, H:24,600
FLIR (BT %) JAL JAL 26,400 63% [ H:27,500, K:26,900, £:24,700., £:22,000, H:23,500
KB (BETE) =% % Bl KR (BEFE) & RIR(FH) JAL JAL 23,600 68% | F:24,000, £:23,100, £:23,200, H:24,600
FLIR (BT %) JAL JAL 25,600 64% | F:26,800, &:26,100, £:27,500, H:22,400
s FE RE(CHHA) JAL JAL 22,600 69% | HA:23,000, £:23,200, +:22,200, H:24,600
FLIR (BT %) JAL JAL 26,400 63% | H:27,500, K:26,900, £:24,700, £:22,000, H:23,500
KR (#F1H) =Rl RBR (R FH) % RIR(FH) JAL JAL 24,300 66% | F:24,700, AK:26,000, £:25,500, 1:23,300, H:24,600
JBJIIFE RIR(FH) JAL JAL 24,000 66% | A 1:24,500, AK:24,900, £:25,200, H:24,300
KBR (B§FE) =HB)II KhR (BEFH) & ESACTD) JAL JAL 24,300 66% | FH:24,700. K:26,000, £:25,500, £:23,300, H:24,600
HBJIIFE RIR(FH) JAL JAL 24,000 66% | H1:24,500, 7K:24,900. £:25,200, H:24,300
KR (R F1) =4l KB (2 F) 5 RIR(PH) JAL JAL 26,900 62%  [K:27,700. £:28,900, £:28,000, H:24,200
Spg5E RIR(PH) JAL JAL 25,900 63% | :25,700,
Kk (BET8) =8Ik KBR (BEFE) & RE(CHHA) JAL JAL 26,900 62% | K:27,700,
Sk s RIR(CPH) JAL JAL 25,900 63% | :25,700,
KB (5 =I5 KB (2 F) 5 RIR(PH) JAL JAL 23,300 67% | H:23,700, ) 122, :25,
RS RIR(FH) JAL JAL 23,800 66% | F:24,200, AK:24,600, £:25,400, 1:25,100, H:24,000
KR (BET8) =L KPR (BE78) 5 RE(CHHA) JAL JAL 23,300 67% |A:23,700, £:23,500, £:22,500, H:25,100
HIRFE RIR(PH) JAL JAL 23,800 66% | F:24,200, AK:24,600, £:25,400, 1:25,100, H:24,000
KR (2 F) =88 KPR (2 FH) 5 RE(CHHA) JAL JAL 21,000 66% | 7:21,200, £:22,400. £ H:21,600
ENAESE RIR(PH) JAL JAL 23,600 62% | F:24,000, K:23,400, £:24,600, £:22,400, H:25,000
Kk (BEF8) =EKEE KPR (BE78) 5 RE(CHHA) JAL JAL 21,000 66%  |K:21,200, £:22,400, £ H:21,600
ENEESE RIR(PH) JAL JAL 23,600 62% | FH:24,000, K:23,400, £:24,600, £:22,400, H:25,000
KR (B ==iR KPR (2 F) 5 RIR(CPH) JAL JAL 23,900 60%  |£:23,300, £:22,000, H:21,900
=R% RE(CHHA) JAL JAL 23,600 60% | 7K:23,400, £:25,000, £:23,000, H:23,200
KBx (B§FE) ==iR KBR (BEFH) & R (CRH) JAL JAL 23,900 60%  |$:23,300, £:22,000, H:21,900
=R% RE(CHHA) JAL JAL 23,600 60% | 7K:23,400, £:25,000, £:23,000, H:23,200
KR (71 =R KPR (£ 5 HE JAL JAL 14,400 60% |Ask&+ H:14,800
[ETES = JAL JAL 15,100 58% JKAZ H:15500, £:15,900
KR (2FH) =EF5 KPR (2 FH) 5 BRE JAL JAL 20,400 55% | A% H:20,800, £:21,200
EFEX BRE JAL JAL 21,000 53% | A A:21,200, £ H:21,600, £:20,500
KR (BFH =825 KB (2 F) 5 8 (FRER) JAL | JTA/RAC| 22,100 63%  [K:22,300, £:23,900, £:26,100, H:21,900
=i P48 (FRER) | JTA/RAC|  JAL 23,600 60% | H:25,200, K:23,800, £:23,700, £:23,500, H:25,600
KR (BFE) ==& KBR (BEFE) & (AR JTA | JTA/RAC| 20,700 65% | F:18,300, £:19,200, £:20,000, H:17,800
=i SP#E(ARER) | JTA/RAC|  JTA 23,000 61% | H:23,100, £:20,600, £:20,500, H:21,800
KR (B =R18 KB (B F % 8 (FRER) JAL [JTA/RAC| 24,700 62% | H:25,100 ] 128, :24,
aiEH P48 (FRER) | JTA/RAC|  JAL 24,100 63% | F:24,400, K:24,300, £:24,000, +:23,800, H:26,200
KR (B§FE) =R1E KBR (BEFH) & PR JTA | JTA/RAC| 14,800 77%
niEH P48 (FRER) | JTA/RAC|  JTA 24,100 63% | £:21,600, £:21,500, H:22,800
ZHE (FER) =% 5 BEE(FED) F | ALIE G F ) JAL JAL 24,200 64% |FA:26,300, K%
s TlE] IR T %) JAL JAL 22,600 66% | A H:23500,
BEE(FR) =2H ZEE(FEDF | B GHR) JTA | JTA/RAC| 22,600 65% A H:23500,
=i SP#E(ARER) | JTA/RAC|  JTA 17,900 72% | F:18,000. % H:20,700. £:20,800
ZHE (FE) =FH1E ZEE(FEDFE | B GHR) JTA | JTA/RAC| 19,500 72% | A:20,900. K:20,100, £:21,000, £:20,500, H:22,100
HIEH 48 (ARE) | JTA/RAC|  JTA 18,400 74% | H:19,000. % H:21,200, 1:21,800
FLIR BT F i) =/ ARG TR | B CHA) JAL JAL 21,300 66% | A A:21,600, £:23,900, £:19,800. H:27,300
INAFE RIR(PH) JAL JAL 22,700 64% | H:23,600, K1:24,700. £:27,300, H:22,200
IR FR) =mLaE |[ARGTFHHE | RRCEH) JAL JAL 28,100 61% | HA:28400, % 1:29,000, H:27,700
ML EER RE(CHHA) JAL JAL 26,800 62% | H:27,400, K:27,300, £:32,300, £:27,000, H:29,400
FLIR (BT F %) =@l ARG TR | R CHA) JAL JAL 27,300 62% | H:27,800, K:27,700, £:29,500, +:23,900. H:30,300
FE] L1y 5 RIR(PH) JAL JAL 25,000 66% [ H:25,900. K:26,600, 1,000, 1:28,500
IR Fm) =IE8 ARG TR | R CHA) JAL JAL 27,600 62% | F:27,800, K:27,700, £:29,900., +:24,800. H:30,300
INEES RIR(PH) JAL JAL 26,500 64% | F:26,900. K:28,000, £:32,600, £:27,800, H:25,300
FLIR G F %) =1L O 54 ARG TR | R CHA) JAL JAL 24,300 69% [ A A:24,700. £:26,400, £:22,600. H:31,600
WO AR S RIR(PH) JAL JAL 23,900 69% | F:24,800. A:25,800. £:30,600, 1:26,400, H:25,300
IR Fm) =HE FLIR G TR | BRECHA) JAL JAL 28,400 60% | A A:28,700. £:30,600. £:30,100. H:31,000
HES RIR(PH) JAL JAL 29,100 59% [ F:29,400, K:29,500, 1,000, £:30,700, H:29,700
HWIRF TR =ES ARG TR | HRECHA) JAL JAL 25,900 64% | F:26,300, &:26,200, £:28,800, +:22,600, H:28,900
BEF RIR(PH) JAL JAL 26,900 63% | H:27,800. K:28,500, £:32,200, £:27,000, H:24,500
IR F TR == IR TFR)F | HRECHA) JAL JAL 27,500 62% | H:27,800, K:27,700, £:29,700, £:25,100, H:33,000
S RIR(PH) JAL JAL 27,400 62% | H:27,900. K:28,600, £:33,000, £:30,700, H:28,700
FLIR (B F i) =5 % ARG TR | R CHA) JAL JAL 27,100 63% | H:27,400, K:27,700, £:28,700, £:23,300, H:32,000
EEES RIR(PH) JAL JAL 28,200 62% | H:29,100. K:29,800, £:34,200. £:30,800, H:27,500
FLIE (BT F %) =21l ARG TR | R CHA) JAL JAL 29,100 61% | H:29,500, K:29,400, £:32,300, +:25,800, H:35,200
EANITE;S RIR(FH) JAL JAL 28,600 62% | H:29,500. K:30,600, £:35,000, £:30,300, H:28,700
FLIR G F %) =t A ARG TR | R CHA) JAL JAL 29,000 64% | F:29,300, K:29,400, £:31,200, £:26,000, H:34,700
%R LE RE(CHHA) JAL JAL 27,700 65% | F:28,600, &:29,300., £:34,400, +:30,800. H:30,000
IR (FFm) =K5 FLIR TR | BHRECHA) JAL JAL 28,000 64% | F:28,300, :28,200, £:30,900, +:29,000, H:34,500
o5 RIR(PH) JAL JAL 27,800 65% [ F:29,900. K:29,700, £:34,500, £:31,100, H:29,400
FLIR T ) =RIG FLIR G TR | HRECHA) JAL JAL 28,800 65% | F:29,800, :29,200, £:32,300, £:30,000, H:34,200
RIEsE RIR(PH) JAL JAL 27,800 66% | FH:28,700. 7K:27,900, K:29,800. £:34,900, £:31,500
FLIR (BT F ) =BEK ARG TR | R CHA) JAL JAL 29,100 64% | F:29,600, 7K:29,400, K:29,500, £::32,200, +:29,300
RS RIR(PH) JAL JAL 28,100 65% | F5:28,800., 7:29,800. £:35,200, £:32,000, H:31,200
FLIR T ) =2 ARG TR FE | HECHEA) JAL JAL 27,500 66% A A:28200, £:30,600, H:33,200
B SE RIR(PH) JAL JAL 27,400 66% | H:27,900. 7K:27,000. 7:29,300, £:33,700, 1:31,100
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XED XE@ -
WRFFR)=ERE |ARFGFRE| HRCHH) JAL JAL 26,700 68% | H:29,000, K:27,900, £:30,800. £:29,800, H:35,700
B RS % RIR(FH) JAL JAL 26,900 67% | F:28,900. A:27,300. £:34,300, 1:31,300, H:29,500
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= o Sk
=P BHaid RERH 5/19-31 zﬂh;fg mE
XED X =
FLIR G F i) =48 (BF) | +IRGHFR) F | "RECHEA) JAL JAL 25,800 70% | FA:26,100. AK:26,000, £:32,100. £:32,500, H:33,500
KR (#FH JAL JAL 17,000 80% 1t H:18,400
ZEE (PER) JAL JTA 21,200 76% | F:24,300, £:25,900, £ H:25,500
12 JAL JTA 28,900 68% | £:29,700, H:31,100
iR (ARER) R CRH) JAL JAL 25,600 70% | H:25,800, A:25,900. £:30,200, 1:24,800, H:31,400
KR (#FH JAL JAL 17,000 80% 1t H:18,400
KB (REE) JTA JAL 21,700 75% | F:23,300, £:23,600, £:25,300, H:21,000
ZEE (FE) JTA JAL 18,700 78% | H:22,600, £:20,300, £:20,100, H:25,500
[ JTA JAL 27,800 69% | £:28,200, £:29,700, H:28,300
IR (FFK) =F1E IR TFR)F | R CHA) JAL JAL 32,000 70% | A:32,700. K:32,500, £:33,300. £:35,200, H:35,400
aiEH RIR(FH) JTA JAL 33,100 69% | A K:33,500, £:34,900. 1 H:36,700
ZEE () JTA JAL 28,100 73%  |$:29,700, 1:31,500, H:32,500
IR TR =2 AR G TR 5 | BEE (hER) JAL JTA 26,100 74% | F:27,300, £:27,200. £ H:30,500
12 =2 5 Rl F=ES RIR(PH) JAL JAL 29,700 67% |A:30,100, £:31,000, £:32,100, H:33,600
FLIR (B F %) JAL JAL 29,000 65% | A A:29,500. £:30,100, £:26,500. H:26,400
s FE RE(CHHA) JAL JAL 27,800 69% | F:28,200, £:34,200, £:29,300, H:31,100
FLIR (BT %) JAL JAL 24,500 70% | A A:25,000. £:25,900, £:23,200. H:25,400
1=k =h8)Il 2 5% RIR(PRH) JAL JAL 29,800 66% | H:30,300. K:31,500, £:32,300. £:30,900, H:33,600
JENES RE(CHHA) JAL JAL 28,300 67% | F:28,700., K:28,400, £:34,800, +:31,600. H:30,000
1= e = g3 [EGES RIR(PH) JAL JAL 33,000 62%  |K:33,800. % 1:36,400, H:33,200
Fi i RIR(PH) JAL JAL 31,400 64% 36,400, 1:30,000, H:32,100
1B =I5 [EGES HRE(CHHE) JAL JAL 29,200 66% | F:29,600, £ 1:31,600, H:34,100
HIRFE RIR(PRH) JAL JAL 28,500 67% | FH:28,900. £:35,000, £:32,200, H:30,200
12 =g EEEES HE(CHH) JAL JAL 25,400 67% | F:26,300, A:25,700, £ H:30,200, 1:29,500
PTG JAL JAL 23,700 66% | F:25,400, £:27,600, £:28,400, H:24,600
EEES RIR(PFH) JAL JAL 28,500 63% | F:28,900, £:30,400, £:27,100, H:30,700
PTG JAL JAL 22,500 68% | /K:24,600, £ H:26,000, 1:24,300
EE=5% EEEES RE(CHHA) JAL JAL 23,000 70% &+ H:23,800
PTG JAL JAL 19,200 71% | K:19,600, £:21,400, £:22,000, H:20,200
EHFE RE(CHHA) JAL JAL 23,000 70% &+ H:23,800
PTG JAL JAL 19,200 71% | K:21,400, £:23,100, £:22,800, H:24,100
ERE==R 2 5% RE(CHHA) JAL JAL 21,000 72% &+ H:21,800
ZIR% RIR(PH) JAL JAL 21,000 72% %+ H:21,800
PTG JAL JAL 21,500 69% | F:25,200, A&:23,600., £ H:29,100, 1:24,900
B =1t 2 5% KRB R FH JAL JAL 31,600 52% | A7KXK:29,900. £:32,400, £:31,700, H:35,700
TEHSR KRB R FH JAL JAL 24,700 62% | 7K:27,300. £:34,200. £ H:32,500
2@ =%m| EEEES HRE(CHH) JAL JAL 29,900 57% | F:30,000, £:30,300, £:24,600, H:25,100
PTG JAL JAL 20,100 68% | £:22,800, £:21,100, H:25,700
ESR RIR(FH) JAL JAL 29,300 58% 5,000, 1:25,800, H:24,900
PTG JAL JAL 20,200 68%  7K:22,800, £ H:23,400, 1:23,700
1=RE =1L EEES RIR(FH) JAL JAL 22,700 63% | H:23,200, £:25,900, F:22,100, H:26,300
PTG JAL JAL 21,900 64% | F:23,700, 7K A:20,800. £:26,300, 1:25,500. H:28,200
11522 RIR(PH) JAL JAL 24,700 59% | K:27,300, £:28,000, 1:28,200, H:22,000
PTG JAL JAL 21,900 64% | H:25,300, 7K:21,300, :23,400, £:29,600, +:27,900
EE =8 12 5% KRB R FH JAL JAL 18,200 69% | A K:18,500, £:21,900, £:19,200, H:20,600
o ikoEid KRB B FH JAL JAL 18,000 69% | F:18,200. A:20,300. £ H:22,500, 1:21,000
12 =/ [EGES HE (HH) JAL JAL 25,500 62% | F:25,600, £:26,700, £:23,600, H:25,800
INAFE RIR(PH) JAL JAL 26,400 61%  |$:29,000, 1:26,700, H:24,600
EE==0 [EGES PR (AR JTA | JTA/RAC| 18,100 65% |+ H:18,900
=i P48 (FRER) | JTA/RAC|  JTA 16,500 68% |[A%£:16,600. £ H:17,500
EE=aiE feEES s (FRER) JTA  |JTA/RAC| 17,400 70% |+ H:18,200
HIEH 48 (ARE) | JTA/RAC|  JTA 18,400 68% £ H:19,100
T =5 S E IR TR JAL JAL 22,600 61% | HAZ£:23,100, £:20,000, H:19,000
ikoEid FLIR (BT F5%) JAL JAL 25,200 57% | BAZH:25700, £:21,800
R = VY iR F RIR(PH) JAL JAL 21,100 71% | H:21,500, £:21,800, £:21,000, H:23,500
INAFE RIR(PH) JAL JAL 21,400 70% [ A:21,800. K:21,600, £:22,000, £:22,200, H:23,700
L E R =it R ESTIES RIR(FH) JAL JAL 28,600 64% | A:29,000, £ 1:29,800, H:31,500
=R RIR(PH) JAL JAL 28,000 65% | A A£:28,400. £:28,700. H:31,300
Za A =m S RE(CHHA) JAL JAL 24,700 70% | H:25,200, K:24,800, £:25,100, +:24,000, H:26,500
FE] L1y 5 RIR(PH) JAL JAL 25,700 68% $:24,500, 1:25,200, H:26,700
TaA =5 S e RE(CHHA) JAL JAL 24,400 70% 25,300, 1:24,000, H:26,500
NEES RIR(PH) JAL JAL 26,000 68% K:26,200, £:27,100, 1:25,200. H:26,700
FLIR (BT %) JAL JAL 22,000 71% | H:25,900, K:22,500, £:27,500, £:23,900, H:25,400
TaA=HE S RE(CHHA) JAL JAL 26,100 67% | H:27,000, K:26,600, £:28,000, +:27,400, H:30,500
HES RIR(PH) JAL JAL 26,700 67% | A XK:27,200, £:28,800. £:29,900, H:29,700
A= iR F RE(CHHA) JAL JAL 26,500 68% | FH:26,900. £:27,900, £:25,800, H:30,000
EAITES R (CRH) JAL JAL 26,500 68% | F:26,900, £:26,800, 1:27,800, H:29,700
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= o I s
=R @D RS 5931 BEY iz
XED X =
LR =H1E S BIR(FH) JAL JAL 34,300 70% | FH£:34,700, 1:36,700, H:39,200
aiEH BIR(FH) JTA JAL 34,500 70% | A AK:34,900, £:35,200, £:36,900, H:39,400
FBJI =/ JBJIIFE RIR(PH) JAL JAL 22,500 68% | A A:23,000. £:23,800. £:23,300
INEAFE RIR(PH) JAL JAL 22,500 68% | H:23,000, K:23,100, £:23,400, H:23,700
BJI=mftaE JBJIIFE RIR(PH) JAL JAL 21,000 73% | H:21,400, £:22,200, £:20,600, H:23,600
=R RIR(PH) JAL JAL 29,200 63% [AA£:29,700. £:30,000. H:31,300
JBJI =Rl JBJIIFE RIR(PH) JAL JAL 25,200 68% | H:25,700. K:25,300, £:25,900. £:26,300, H:25,500
FE] L1y 5 RIR(FH) JAL JAL 24,400 69% [ H:24,900. K:25,100, £:25,800, £:25,600, H:26,700
BI=HE JBJIIFE RIR(FH) JAL JAL 27,300 65% [ H:27,900, K H:28,500. £:29,000., £:29,700
HES RIR(PH) JAL JAL 27,900 64% | F:28,400, K1:28,500. £:28,800, H:29,700
JBJI=#21L JBJIIFE RIR(PH) JAL JAL 27,000 67% [ H:27,400. K:27,300, £:28,500, £:28,100, H:28,900
PR HR(CRH) JAL JAL 27,400 66% | A 1:27,800. AK:29,100. £:29,400. H:29,700
HE)I|=R”1iE JBJIIFE RIR(PH) JAL JAL 35,700 68% | FK:36,200, £:36,700, £:39,000, H:38,200
aiEH RR(PH) JTA JAL 35,700 68% | A K:36,200, £:36,500, 1:38,200, H:39,400
IR =/ HIER T R (CRH) JAL JAL 23,300 66% |$:24,100, 1:23,800, H:23,100
INAFE RIR(FH) JAL JAL 24,700 64% | K:25,500, £:27,500, £:27,000, H:23,300
IR =miaE ﬂllﬂ%?é RIR(FH) JAL JAL 21,700 72% | AK:21,900, £:22,900, £:22,800, H:23,000
=R RIR(PH) JAL JAL 27,600 64% | HA:27,900, :29,000, H:30,900
HIE% = RE L HIFRFE RIR(PH) JAL JAL 28,300 64% | FK:28,400, £:29,200, £:26,600, H:26,100
FE 1L 58 RIR(FH) JAL JAL 29,000 63% | K:29,800. £:30,300. £:30,000, H:26,300
=155 HIFRFE R (CRH) JAL JAL 28,000 65% |$:29,200, 1:26,800, H:26,100
LB% RIR(FH) JAL JAL 29,300 63% | K:30,100, £:32,100. £:30,000, H:26,300
HIBE =HL Sk s RE(CHHA) JAL JAL 30,100 63%  [£:32,000, £:28,600, H:31,000
LS RIR(FH) JAL JAL 29,800 63% | K:30,600, % 1:32,600. H:29,300
Hk=A1E HIER T RIR(FH) JAL JAL 34,100 70% | A K:34,300, £:34,800, £:37,300, H:36,300
aiEH RIR(PH) JTA JAL 34,100 70% | A K:34,400, £:34,800, 1:36,400, H:39,000
IR =/ HIRFE HRE(CHHE) JAL JAL 22,300 68% | HA:22700, £:24,300, £:23,900, H:22,200
INAFE RIR(PH) JAL JAL 21,700 69% | A A:22,100. £:22,600. H:24,200
HLE=FiLEAE N RIR(PH) JAL JAL 21,900 72% | A:22,300, £:22,800, £:22,200, H:24,200
=R RIR(FH) JAL JAL 28,500 63% | AAR£:28,900. £:29,300. H:31,800
IR =Rl N RIR(FH) JAL JAL 25,400 68% | H:25,900, A:25,500, £:26,400, 1:26,900, H:25,200
FE] L1y 5 RIR(FH) JAL JAL 24,800 68% | H:25,200, £:25,100, £:24,700, H:27,200
HE=HE HILFE RE(CHHA) JAL JAL 27,100 65% 9,500, £:30,300, H:29,600
HES RIR(PH) JAL JAL 27,200 65% x:28,100, £:28,900. H:30,200
HIE=#0 i [ 58 RIR(FH) JAL JAL 27,200 66% | F:27,600, %:ﬂ: 28,700, H:29,100
NIIE HR(CHRH) JAL JAL 25,600 68% | F:26,000, A:25,900. £:26,700, 1:26,800, H:30,200
HLE=hAiE HILF RIR(FH) JAL JAL 35,500 68% | A A:35,900. £:37,200, £:39,600. H:37,900
aiEH RIR(PH) JTA JAL 35,000 69% | A K:35400, £:35,800, 1:37,400, H:39,900
EEE=/M2 ENEESE RE(CHHA) JAL JAL 21,000 66% | A %£:21,400. £:20,200. H:22,600
INEAFE RIR(PH) JAL JAL 19,900 67% | K:20,100, £:21,300, £:20,900, H:20,700
HEE=mHE ENEESE RIR(FH) JAL JAL 26,600 61% [AAH:27,000, £:28,200, :27,600
=P R (CRH) JAL JAL 26,300 62%  K:26,600. £ H:27,900, F:24,400
AR =FE L ENEESE RIR(FH) JAL JAL 24,900 65% | A £:25,300. £:23,100. H:25,500
FE LI 58 RIR(PFH) JAL JAL 24,200 66% | AK:24,400, £:24,100, £:23,900, H:23,500
HE=L5 ENEESE RE(CHHA) JAL JAL 25,700 64% | F:26,100, £:26,500, £:23,200, H:25,600
INEES RIR(PH) JAL JAL 24,500 66% | AK:24,700, £:25,900, £:23,900, H:23,800
HEE=HE EREEF RIR(PH) JAL JAL 24,000 65% | A A:25,000. £:25,400, £:25,200, H:27,700
KR (#FH JAL JAL 22,700 66%  H:24,000
HESR RIR(PH) JAL JAL 25,000 64% | F:25,100, K:25,400, £:28,400, £:28,600, H:26,400
KR B JAL JAL 23,900 64% | F:25,600, £:26,000, £:27,700, H:24,800
EREE=HAL EEES RE(CHHA) JAL JAL 26,600 63% [H:27,000, £:27,800, £:25,000, H:29,400
KR (#FH JAL JAL 23,400 63%  H:23,800
AR R (CRH) JAL JAL 25,000 65% | K:25,200, £:26,400, 1:26,500, H:26,300
KR B JAL JAL 24,600 61% | F:26,300, £:26,700, £:27,900, H:25,500
BEEE=dt A [y BIR(FH) JAL JAL 28,100 64%  |[£:25,900
EZIRLE RE(CHHA) JAL JAL 26,100 66% | /<:26,300, £:27,800, £:27,100, H:27,200
HEEE=X% EEES RE(CHHA) JAL JAL 27,400 64% | A %:27,800. £:27,000. H:29,800
KR (75 JAL JAL 23,200 65% H:27,200
K5 RIR(FH) JAL JAL 26,100 66% [ FH:27,800. K:26,600, £:28,400., £:28,600, H:28,700
KR B JAL JAL 24,400 63% | F:26,100, £:30,200, £:31,000, H:25,300
HEE =R [t RE(CHHA) JAL JAL 27,400 66% | F:28,100, K:27,600, £:28,600, +:26,500, H:29,400
KR (#FH JAL JAL 26,300 64% H:28,100
RiIgs RIR(FH) JAL JAL 26,100 67% | F:26,300. 7K:25,700, 7:25,900, %:28,000, 1:27,600
KR B JAL JAL 27,500 63% | F:29,200, £:29,600, £:30,800, H:28,400
EEE=HER RS RIR(FH) JAL JAL 27,700 64% | FA:28,100. £:28,500, £:26,500, H:30,700
KR (#FH JAL JAL 23,600 67% |$£:27,200, H:27,500
BERS RIR(FH) JAL JAL 26,100 66% | F:26,500. 7K:26,200, 7:26,400, £:28,700. 1:28,000
KR B JAL JAL 24,800 65% | F:26,500, £:26,900, £:31,000, H:25,700
HE=ERS [EaS RE(CHHA) JAL JAL 25,400 68% | H:27,700. £:28,200, £:25,500, H:31,300
KR (#FH JAL JAL 25,800 66% %+ H:25900
RS RIR(PRH) JAL JAL 25,500 68% | F:26,300, A:25,800, £:27,100, 1:28,400, H:28,700
KR B JAL JAL 26,200 65% | H:27,900, £:28,300, £:29,300, H:27,300
HE=R1E ENEESE BIR(PH) JAL JAL 32,300 69% | A K:32,700, £:33,100, £:34,500, H:34,700
aiEH RIR(PH) JTA JAL 32,800 68% | K:33,100, £:34,400, £:32,900. H:36,000
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BEfHFR=/MR EHRR RE(CHHA) JAL JAL 20,500 66%  |£:21,000, £:19,800, H:20,900
INA BIR(FH) JAL JAL 20,200 66% |:21,400, £:19,700. H:20,600
EHR=miLaE EHFE HRE (HH) JAL JAL 27,200 60% |4 1:28,600, H:27,800
=R R (CRH) JAL JAL 26,900 60% | % H:28,900
HEfHF=RW EHRR ESACTED) JAL JAL 24,700 64% | A AK:24,800. £:25,200, £ H:22,800
FE 1L 58 RIR(PH) JAL JAL 23,700 66% ¥ H:23,600, 1:23,100
EHR=L5 EHFE HE (HH) JAL JAL 25,700 63% | A:26,100, T H:24,100
INEES RIR(FH) JAL JAL 24,900 64%  |£:26,500, 1:22,800, H:23,600
EF=ILOFE EHFE HRE (HH) JAL JAL 21,700 71%  |£:22,400, £:22,200, H:24,100
WO AR S RIR(PH) JAL JAL 22,500 70%  |£::24,000, H:24,900
BEHR=HE EHRR RE(CHHA) JAL JAL 27,200 60% £ H:28,100, £:28,000
PTG JAL JAL 19,400 70% | £:19,800, £:20,400, H:22,100
HESR RIR(PH) JAL JAL 27,700 59% |[AA£:27,800. £ H:29,600
PTG JAL JAL 19,400 70% [ AK£:19,800. + H:21,300
EHR=15 EHFE RE(CHHA) JAL JAL 23,800 65% | %:24,600, £ H:21,400
BEF RIR(FH) JAL JAL 24,000 65% |£:21,800, H:23,200
EHFR=mn EHRR RE(CHHA) JAL JAL 26,000 62% £ H:26,800, 1:25,300
S RIR(PH) JAL JAL 25,800 62% 7,400, 1:25,300, H:27,000
EHR=mH EHRR RE(CHHA) JAL JAL 25,800 63% 6,200, £:23,600, H:25,600
e RIR(FH) JAL JAL 25,300 64% 6,200, 1:25,400, H:25,800
HEfF=Hl EHRR RE(CHHA) JAL JAL 26,500 63% 8,000, £:25,700, H:27,600
KR (R JAL JAL 20,100 67% 0,500, £:21,100, B:21,900
IR R (CRH) JAL JAL 26,100 63%  |$:26,900, 1:25,300, H:27,000
PTG JAL JAL 20,200 67% | AK£:20,500, +:21,500, H:22,100
BFHE =AM EHFE RE(CHHA) JAL JAL 21,800 71% &+ H:22,600
JE AN RIR(PH) JAL JAL 21,800 71% &+ H:22,600
BEHR=KS EHFE RE(CHHA) JAL JAL 21,700 71% &+ H:22,500
PTG JAL JAL 19,900 69% | £:20,300, £:20,900, H:25,300
K5 RIR(FH) JAL JAL 21,700 71% &+ H:22,500
PTG JAL JAL 19,900 69% | 7K:20,300, £::24,000, £:24,600, H:20,900
EHR=RIE EHFE RE(CHHA) JAL JAL 23,200 71% &+ H:24,000
PTG JAL JAL 23,000 68% | £:23,400, £:24,000, H:26,200
RiIgs RIR(FH) JAL JAL 23,200 71%  |#+ H:24,000
PTG JAL JAL 23,000 68% | AK£:23,400, +:24,400, H:24,100
BEHR=EX EHFE RE(CHHA) JAL JAL 21,800 71% &+ H:22,600
PTG JAL JAL 22,300 68% | £:24,300, £:23,700, H:25,600
REARS RIR(PH) JAL JAL 21,800 71% &+ H:22,600
PTG JAL JAL 20,300 70% | A£:20,700. 1:24,600. H:22,200
BEHR=TE EHFE RE(CHHA) JAL JAL 21,800 71% &+ H:22,600
PTG JAL JAL 23,900 65% | £:24,500, £:25,500, H:26,200
RS RIR(PH) JAL JAL 21,800 71% &+ H:22,600
PTG JAL JAL 24,200 65% | £:24,600, £:25,300, H:26,600
EH=ERS EHFE RE(CHHA) JAL JAL 23,200 71% &+ H:24,000
PTG JAL JAL 22,500 69% | £:23,000, £:23,600, H:24,000
RS RIR(FH) JAL JAL 23,200 71%  |#+ 8:24,000
PTG JAL JAL 21,700 70% | AK£:22,100, +:22,900, H:23,800
EF=AE EHFE RE(CHHA) JAL JAL 32,900 68% | %:33,500, T H:35,500
aiEH RIR(PH) JTA JAL 32,900 68% 4,900, H:36,300
ZiR=/ ZIR% RIR(PH) JAL JAL 21,100 64%  [£:21,800, £ H:20,800
INEAFE RIR(PH) JAL JAL 21,100 64%  |£:21,300, 1 H:20,800
ZiR=miaE ZiR% RIR(PH) JAL JAL 28,600 57% % 1:29,600, H:28,800
=R R (CRH) JAL JAL 27,800 58% & 1:28,000, H:28,400
ZiR=®EW ZR% R (CRH) JAL JAL 26,000 62% | A K:26,100, £:26,900. 1 H:23,800
FE 1L 58 RIR(PH) JAL JAL 23,000 66% ¥ H:23,800, 1:24,200
ZR=IE5 ZiR% BIR(FH) JAL JAL 25,700 63% :
INEES BIR(FH) JAL JAL 25,700 63%  |$:26,400, 1 H:24,300
ZR=WO5FY =R% RE(CHHA) JAL JAL 23,000 69% | £:24,000, £:23,200, H:25,100
WO AR S BIR(FH) JAL JAL 23,400 68%  |$:24,200, 1:23,600, H:25,100
ZR=HE ZR% R (CRH) JAL JAL 27,400 59%  |$:29,600, 1:27,200, H:29,200
HESR RIR(FH) JAL JAL 26,500 60% | FK:26,600, £:28,400, 1:28,500, H:26,800
PGS JAL JAL 21,700 67%  A:25900. K&+ H:25,800
ZR=%5 ZR% R (CRH) JAL JAL 25,200 63%  |$:26,200, 1 H:22,400
BEF RE(CHH) JAL JAL 23,900 64% 4,100, 1 H:23,400
ZR=5# =R% RE(CHHA) JAL JAL 26,500 61% 7,700, £:24,400, H:27,100
S BIR(FH) JAL JAL 25,400 62% 126,400, H:26,300
ZR=5E4% ZR% R (CRH) JAL JAL 27,100 61% 7,900, 1:24,600, H:26,700
e BIR(FH) JAL JAL 26,200 62% 26,400, 1:26,500, H:24,800
ZiR=#1 ZR% R (CRH) JAL JAL 27,800 60%  |£:29,700, 1:25,600, H:28,700
IR R (CRH) JAL JAL 27,000 61%  |$:27,200, 1:26,400. H:26,800
PTG JAL JAL 22,400 64%  FH:26,600, A= H:26,500, 1:26,900
ZiR=dchMm ZR% RIR(PH) JAL JAL 19,800 74% %+ H:20,600
AN BIR(PH) JAL JAL 19,800 74% %+ H:20,600
ZiR=X%» ZIR% BIR(PH) JAL JAL 19,700 73% %+ H:20,500
K5 RIR(PH) JAL JAL 19,700 73%  |#+ H:20,500
PTG JAL JAL 22,200 66% | F:26,400, & H:26,300, 5 1:30,000
ZiR=R& ZiR% RIR(PH) JAL JAL 21,200 73% |+ H:22,000
RiIGs RIR(PH) JAL JAL 21,200 73% &+ H:22,000
PTG JAL JAL 24,000 67% | H£1:28200, X:28,100, H:28,600
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XED X =
ZiR=fX ZiR% BIR(FH) JAL JAL 19,800 74% &+ H:20,600
BERS RIR(FH) JAL JAL 19,800 74%  |#+ H:20,600
KR (EFH JAL JAL 25,000 64%  A:29,200, K&+ H:29,100
ZiR=8& ZiR% RIR(PH) JAL JAL 19,800 74%  |#+ H:20,600
PTG JAL JAL 25,700 63% | F:29,400, £:30,200, £:27,300, H:30,600
IS RIR(FH) JAL JAL 19,800 74%  |#+ H:20,600
PTG JAL JAL 25,700 63%  H:29,900, A2 H:29,800, £:30,200
ZR=ERS ZIR% RIR(PH) JAL JAL 21,200 73% %+ H:22,000
PTG JAL JAL 25,100 66% | F:28,800. £ H:29,200, 1:26,200
RS RIR(PH) JAL JAL 21,200 73%  |#+ H:22,000
PTG JAL JAL 24,000 67% | F:28,200, A%:28,100, + H:28,300
ZiR=RE =R% RIR(FH) JAL JAL 34,300 66%  [£:34,500, £ H:36,500
RIEH RIR(PH) JTA JAL 34,300 66% |$:34,500, 1 H:36,500
A=/ FEF RE(CHHA) JAL JAL 21,700 59% 2,700, £:15,900, H:17,100
INAFE RIR(PH) JAL JAL 21,500 60% [£:21,800, £ H:15,900
ME=mitaE FEF RIR(PH) JAL JAL 26,300 57% |£:24,700. H:23,900
=R RIR(FH) JAL JAL 25,800 58% |£:23,100, H:23,500
FRE=FEWL FEF RIR(PH) JAL JAL 26,200 58% | AAK%:26,300, = H:18,900
FE] L1y 5 RIR(PH) JAL JAL 23,500 62% |£:23,800, 1:19,300, H:18,900
MEH=LS FEF RIR(FH) JAL JAL 27,600 56%  |£:28,000, £ H:20,200
INEES RIR(FH) JAL JAL 24,900 61%  |£:26,300, = H:19,400
ME=LOF FRESE ESACTD) JAL JAL 23,300 66% 4,500, £:18,300, H:20,200
WO AR S RIR(PH) JAL JAL 23,900 65%  |$:24,600, 1:18,700, H:19,800
ME=HE FEF RIR(PH) JAL JAL 23,900 61% [ A A:24,600. £:26,100, £:22,300. H:21,900
PTG JAL JAL 20,400 66% | £:21,000, £:21,300, H:22,200
HESR RIR(PH) JAL JAL 26,300 57% |£:24,100, H:24,500
KR (#FH JAL JAL 19,400 67% &1 H:20,100
MEA=E5 FRESE RIR(PH) JAL JAL 24,800 60%  [£:26,200, £ H:17,500
BEF RECHH) JAL JAL 25,400 59% 5,700, £ H:18,100
ME=FR FEF RE(CHHA) JAL JAL 27,500 56% 7,900, £:20,300, H:23,000
S RIR(FH) JAL JAL 25,500 59% 7,000, £:21,500, H:21,000
MHE=5% FEF RE(CHHA) JAL JAL 21,400 67% 4,100, £:19,700, H:19,200
e RIR(PH) JAL JAL 26,700 58% 7,000, £:21,600, H:20,700
FRE=#0 FEF RIR(FH) JAL JAL 28,000 57%  [£:29,100. £:20,700, H:23,800
PTG JAL JAL 21,100 63%  £:21,700, £ H:22,000
AR HR(CHRH) JAL JAL 27,500 57% |$:27,800, £ H:21,500
PTG JAL JAL 21,100 63% £1:22100, H:24,600
FE=dtAM FEF RIR(PH) JAL JAL 29,000 59%  |$:29,400, 1:22,400, H:24,100
%R LE RE(CHHA) JAL JAL 26,500 62%  [£:28,900. £:22,100, H:23,700
ME=X% FEFR RIR(PH) JAL JAL 28,000 59% 9,100, £:23,100, H:24,300
PTG JAL JAL 20,900 65% | £:21,500, £:21,800, H:24,600
K5 RIR(PRH) JAL JAL 27,800 60% | H:29,500, £:28,500, 1:23,400, H:24,300
PTG JAL JAL 19,900 67% £ 1:24,300. H:20,600
H=RIF FER RIR(PH) JAL JAL 28,000 61% [F:28,300, £:29,100, £:23,100, H:22,800
PTG JAL JAL 22,700 66% | £:23,400, £:24,100, H:23,700
RiIgs RIR(FH) JAL JAL 27,800 62% | 7kXK:27,900. £:28,900. X H:23,800
PTG JAL JAL 21,700 68% £ 1:22500, H:22,900
E=FEX FEFR RIR(PH) JAL JAL 28,000 60%  [#£:29,100. £:22,600, H:23,400
PTG JAL JAL 21,300 67% | £:24,600, £:22,200, H:24,900
RERS RIR(PH) JAL JAL 27,900 60%  |£:28,800, 1:24,300, H:24,700
PTG JAL JAL 22,700 65% £ 1:23,400. H:24,700
MEH=Z=F AR RIR(FH) JAL JAL 27,200 61%  [£:28,300. £:22,300, H:23,000
KR (B JAL JAL 25,300 61%  £:26,100, X H:26,400
IS RIR(PH) JAL JAL 27,400 61% | A7K:27,000, £:27,700, £:23,400, H:21,800
PTG JAL JAL 24,200 62% £ 1:25300, H:25400
ME=FERS AR RIR(FH) JAL JAL 26,000 64% | A:27,500, £:27,600, £:20,700, H:24,300
PTG JAL JAL 23,500 66% | £:24,200, £:24,500, H:24,700
RS RIR(FH) JAL JAL 25,400 65% | H:27,900, £:28,300, 1:23,600, H:24,300
PTG JAL JAL 22,800 67% £ 1:23,800, H:28,000
ME=FIE FRESE RE(CHH) JAL JAL 32,300 66% | £:33,800, 1 H:31,600
RIEH RIR(FH) JTA JAL 32,300 66% £ H:31,600
TEE=HE EHSR KRB R FH JAL JAL 24,300 61% [ H:29,100. £:28,400
HEH KRB #FH JAL JAL 30,200 51%  AKAS+H:29,100
S =l TEHSR KRB #FH JAL JAL 25,600 57% |#+ H:30,000
NI KRB #FH JAL JAL 30,000 50% | H:32,800
EE=RIK TEHSR KRB #FH JAL JAL 27,200 61%  [£:32,500. £:32,900, H:33,800
RiIgsE KR (R F) JAL JAL 28,500 59% | H:31,500, 7K A:26,600, £ +:26,700, H:32,000
TEHE =X EHSR KRB #FH JAL JAL 25,800 61% [£H:32,900. £:31,000
RS KR (R F) JAL JAL 29,500 56% | F:32,500, 7K AK:27,600, £ +:31,800, H:32,900
EE=2k (2313 KRB R FH JAL JAL 29,800 56% |#&+ H:32,900
12 JAL JAL 26,000 65% | A A£:27,300, 7K:24,100, £:28,200, H:29,400
IS KRB FFH JAL JAL 32,900 51%
12 JAL JAL 26,800 64% | F:27,300, 7K AK:24,500, £ £:29,400, H:27,800
EE=ERS TE&SR KRB R FH JAL JAL 27,700 61%  [£:34,100, £:31,600, H:32,600
BER S % KRB #FH JAL JAL 34,100 52% | A7kA:32,400, £ +:33,400
Lifz =M Wiz 5 RIR(PH) JAL JAL 16,900 62%  |$:17,200, 1:16,400, H:16,600
INEAFE RIR(PH) JAL JAL 16,800 62%  |£:16,900, 1+ H:16,400
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iRz =FRL Wiz R (CRH) JAL JAL 18,800 65%  $:19,300, = H:19,400
FE 1L 58 BIR(FH) JAL JAL 18,800 65% &+ H:19,400
W =IE8 Wiz % RIR(PH) JAL JAL 22,800 58% 2,900, 1 H:19,400
INEES RIR(PH) JAL JAL 21,400 61%  [£:22,000, £ H:19,400
W=l A FH Wiz RIR(PH) JAL JAL 18,500 68% ¥ H:19,000, 1:18,800
WO AR S RIR(PH) JAL JAL 18,800 68% |$:19,800, £:19,000, H:20,700
W =H=E iz RIR(PH) JAL JAL 24,800 52% | £:25,600
PTG JAL JAL 22,100 62% | F7K:21,000, A:23,900, £:24,700, 1:25,500. H:25,600
HESR RIR(PH) JAL JAL 22,300 57% |AA$+H:22400
PTG JAL JAL 22,100 62% | F:23,900, 7KA:21,000, £:24,700, 1:24,800. H:26,300
Wi =15 iRz RIR(PH) JAL JAL 19,200 64%  |£:20,700, 1 H:18,000
BEF RIR(FH) JAL JAL 19,700 63% |+ H:19,000
I == Wiz 5 RECHH) JAL JAL 19,700 63%
S RR(PH) JAL JAL 21,200 60% |£:21,600, £:21,500, H:21,900
IRz ==%0 Wiz 5 RIR(PH) JAL JAL 19,200 65%  |$:20,400, 1:20,200, H:19,700
e RIR(FH) JAL JAL 19,200 65% |$:20,300, 1 H:20,400
Wiz =#x1L iz 5 RIR(PH) JAL JAL 21,200 62%
PTG JAL JAL 22,800 59% | A7K:21,700, A:24,600, £ H:25,400, £:26,200
LS RIR(FH) JAL JAL 20,600 63% & +:21,000, H:22,400
PTG JAL JAL 22,900 59% | F:24,600, 7K A:21,800, £ £:25,500, H:26,300
wf=X% iz 5 RIR(FH) JAL JAL 23,200 61% H:21,900
KR (R JAL JAL 22,600 61% | F7K:21,500, A:24,400, £:25,200, 1:26,000, H:28,400
K5 RIR(FH) JAL JAL 23,200 61% | H:24,800
PTG JAL JAL 22,600 61% | A B:24,400, 7K AK:20,800, £:28,900, £:28,100
iz =Ri& iz 5 RIR(PH) JAL JAL 23,200 63% % 1:23,600
PTG JAL JAL 25,700 61% | F7K:23,900, A£:27,500, £:28,300, H:29,300
RiIGs RIR(PH) JAL JAL 23,100 64% | A$ 1 H:23,600, 7KAK:22,700
PTG JAL JAL 25,700 61% | F:27,500, 7K A:23,900. £:28,300, +:27,900. H:29,100
Wiz =HReR iz 5 RIR(FH) JAL JAL 23,200 62%  [£:23,600, £:23,100, H:23,900
PTG JAL JAL 23,000 64% | F7K:21,900, A:24,800, £:28,400, 1:26,400, H:28,700
RERS RIR(FH) JAL JAL 23,200 62% | £:24,500, H:25,600
PTG JAL JAL 23,000 64% | F:24,800, 7K A:21,900, £:25,600, :28,100, B:27,200
==& iz 5 RIR(FH) JAL JAL 22,400 63% ¥ 1:22,800, H:22,700
PTG JAL JAL 27,000 57% | A7K:25,900, A:28,300, £ H:29,800, £:30,500
RS RIR(PH) JAL JAL 21,900 64% |£:22,000, H:22,300
PTG JAL JAL 26,900 58% | H:27,900, 7K A:25,800, £ +:29,900, H:30,500
I =ERSE iz 5 RIR(PH) JAL JAL 22,000 65% | A:23,100, K#£:24,000, F:25,300
PTG JAL JAL 25,500 62% | A B:28,900. 7K:24,900. A:27,000, £:29,700, 1:28,700
RS RIR(PH) JAL JAL 22,800 64% | A:23,600, H:24,800
PTG JAL JAL 24,600 63% | F:26,200, 7K AK:23,500, £ £:27,200, H:30,500
=1\ Wiz 5 RIR(PH) JAL JAL 30,100 65% 1+ H:32,100
RIEH RIR(PRH) JTA JAL 30,100 65% t£H:32,100
WE=HE &S KRB R FH JAL JAL 25,800 55% | A7K:25,300, A&:26,200. £ 1:26,300, H:24,000
HES KRB R FH JAL JAL 25,600 55% | F:24,800. 7K:26,000, A#:26,300, £:24,400, H:25.900
& =#al il 5 KR (R FH) JAL JAL 22,300 59% |7:22,700. £ +:22,800, H:22,200
[NITES NG JAL JAL 21,800 60% | £:22,600, £:22,700, H:23,400
wE=x% &% KRB R FH JAL JAL 22,100 61% [£+:22,600. H:24,800
Ro% KRB R FH JAL JAL 23,000 60% | K:23,400. £ 1:24,900, H:27,600
W& =R &% KRB R FH JAL JAL 25,600 60%  [£:26,500. £:26,900, H:26,700
RIGSE KR (R FH) JAL JAL 24,600 62% | K:25,000, £:25,100, £:24,300, H:26,200
& =X &% KR (R F) JAL JAL 22,500 64%  [K:22,900. £:24,800, £:23,000, H:25,100
RERS KRB FFH JAL JAL 23,700 62% |&+ H:24,000
WéE == il 5 KR (R F) JAL JAL 26,500 57% | +:27,400. H:26,900
B SE KRB R FH JAL JAL 27,100 56% | A:27,500, £:28,000, H:28,700
le=kERS & KRB #FH JAL JAL 25,200 62% : 6,100, £:26,500, H:25,400
B R &% KR (R F) JAL JAL 26,300 60% 6,900, £:27,400, +:24,400, H:28,200
Fim=#0 HimF pNACGTE) JAL JAL 18,500 65% | A A:18,700. £:19,800, £:19,300. H:20,200
[NITES KR (R F) JAL JAL 19,600 63% | HAAH:19,900, £:21,600, £:20,600
HiR=K% e KR (R F) JAL JAL 18,300 67% |[AAZ:18,500, £ H:19,600
o5 KR (R F) JAL JAL 19,300 65% | HA:19,600, £:25000, +:24,000, H:22,900
=R HimF KR (R F) JAL JAL 20,100 68% | H7A:20,300, £ H:21,500, £:20,800
RIgsE KRB R FH JAL JAL 21,100 66% | A A:21,400. £:23,200, £:22,200, H:21,900
Him=HEX HimF KR (R F) JAL JAL 18,700 69% [ A A:18,900. £:23,600, £:19,500. H:23,900
BERS KRB #FH JAL JAL 19,700 67% | A AH:20,000, £:21,700, £:20,700
Hin=m=5 HimF KR (R F) JAL JAL 22,700 62% | HA:22,900, £ H:24,200, £:23,900
B SE KRB #FH JAL JAL 23,600 61% [ A A:23,900. £:26,000, £:25,000. H:24,400
FR=ERS HimF KR (R F) JAL JAL 21,600 66% | HA:21,800, 122,600, 1:22,800
B RS % KRB R FH JAL JAL 21,100 67% | A A:21,400. £:23,100, £:22,300. H:22,900
M=l INAFE BIR(FH) JAL JAL 20,800 65% | AA:20,900. 1,800, 1 H:18,000
FE] L1y 5 RIR(PH) JAL JAL 20,900 65% | AA:21,000, 1,900, +:18,400, H:21,700
INA=IES INA RE(CHHA) JAL JAL 22,400 63%  K:22,800, * H:18,000
INEES BIR(PH) JAL JAL 21,500 64%  |$:22,700, 1:18,500, H:19,200
MMA=LOFH NN R (CRH) JAL JAL 17,800 72% 418,100, £:17,400, H:19,300
WO AR S RIR(PH) JAL JAL 18,300 72% 9,000, 1:17,800, H:19,300
IMA=HE INEAFE RIR(PH) JAL JAL 23,900 59% | +:24,200, H:23,400
HES RIR(PH) JAL JAL 23,900 59% [AAH:24,000, £:24,600, 1:23,600
INA=TES INEAFE RIR(PH) JAL JAL 19,400 67% |£:21,100, £ H:16,600
BEF RIR(PH) JAL JAL 21,000 64% |£:17,600, H:18,100
INR=FH INEAFE RIR(PH) JAL JAL 22,100 62% |$:23,400, 1:21,500
S RIR(PH) JAL JAL 22,400 62%  |$:23,600, 1:20,600, H:23,100




JAL/JTA/RAC

i = o
[EMEI5|28 EER (5198 ~5A31BEES)
EEERA 4/28/2021
= o Sk
=P BHaid RERH 5/19-31 zﬂh;fg mE
XED X =
INA=FH INEAFE BIR(FH) JAL JAL 20,200 67%  $:20,300, 1:19,200. H:20,000
e BIR(FH) JAL JAL 22,300 63% 3,200, 1:20,700, H:23,100
INA=#RL INEAFE RIR(PH) JAL JAL 22,600 63% 4,600, 1:21,900, H:22,900
NI RECHH) JAL JAL 23,100 63% 0,600
IR =M INEAFE RIR(FH) JAL JAL 23,600 65% 4,900, 1:21,500, H:24,800
EIZIRLE RE(CHHA) JAL JAL 22,200 67% 4,500, £:21,200, H:24,400
INR=K5 INEAFE RIR(PH) JAL JAL 23,100 65% 4,600, H:23,400
o5 RIR(FH) JAL JAL 22,200 66% | F:23,900, A&:22,500, £ H:23,400, 1:22,700
IR =RIG INEAFE RIR(FH) JAL JAL 23,600 66% | FK:24,000, £:24,800, £:24,100, H:23,500
RIgsE RIR(PH) JAL JAL 22,200 68% | F:22,600, £:24,300, H:24,700
INA=FER INAFE RIR(PH) JAL JAL 23,100 66% |£:23,900, 1:23,400
RERS RIR(FH) JAL JAL 23,100 66% |£:25,300, 1:22,100, H:25,600
INA="F I INAFE RIR(PH) JAL JAL 21,700 68% | H:21,900, 7KA:21,500, £:22,300, 1:21,400, H:22,100
B SE RR(PH) JAL JAL 21,300 68%  |£:21,900, £:21,000, H:22,100
INR=ERE INAFE RIR(PH) JAL JAL 21,100 70% | H:22,200, K%:23,100, £:23,900, H:23,700
B RS % RIR(PH) JAL JAL 21,800 69% | H:23,600, %:23,500, F:22,500, H:25,000
IMA=FH INAFE A€ 1)) JTA | JTA/RAC| 25,400 62% |4 +:28,400. H:25,600
BEEH SP#E(ARER) | JTA/RAC|  JTA 26,200 61% [A#£H:26,500, £:29,300
IMA=F1E INAFE RIR(PH) JAL JAL 29,200 69% £ H:30,700
(AR JTA | JTA/RAC| 26,100 64% | % 1:28,900
RIEH RIR(PRH) JTA JAL 29,100 69% £ H:30,700
SP#E(ARER) | JTA/RAC|  JTA 26,100 64% | £:28,900
EL=2%& FE LI 58 R () JTA | JTA/RAC| 25,500 57%  |K:32,000. £:31,600
=i 48 (ARE) | JTA/RAC|  JTA 25,500 57% | £:31,600, H:31,200
=%\ FE LI 58 (AR JTA | JTA/RAC| 26,000 60%  |K:32,500. £:32,100
niEH P48 (FRER) | JTA/RAC|  JTA 26,000 60% | +:32,100, H:31,700
EH=2& S =15 JAL JAL 21,800 56%  [7k:21,400, £:22,300, £:21,900, H:23,500
B SE =) JAL JAL 21,800 56% | F:21,400, £:22,700, £:23,200, H:21,900
B (RER) =FFH BB FE | mER(CPAH) JAL JAL 24,300 70%  |%:25,600, H:31,300
KR (B JAL JAL 19,300 76% | £:20,000, H:21,200
EHFE RE(CHHA) JAL JAL 23,400 71% | £+:29,500, H:25,900
PTG JAL JAL 18,900 77% 9,300, £:20,300, H:19,900
S48 (FRE) ==iR B (IRER) RIR(PH) JAL JAL 25,600 68% :25,800, H:30,800
=R% RE(CHHA) JAL JAL 24,400 70% 6,700, £:27,600, H:27,000
PR (ARER) =fE B (IRER) RIR(PH) JAL JAL 24,800 67% 5,700, 1:20,500, H:26,200
PTG JAL JAL 20,200 74% > 1:21,200, H:23,700
ESR RIR(FH) JAL JAL 25,800 65% 2,600, 1:26,600, H:22,100
KR (#FH JAL JAL 20,300 74%  [£:20,900, £ H:21,200
PR (IR =15 B (IRER) KRB R FH JAL JAL 26,700 66% | A7kA:25,400, £ +:30,800, H:33,700
12 JTA JAL 29,300 65% | H:30,200, 7K A:27,000, £:30,800.  H:30,700
(2313 KRB R FH JAL JAL 23,500 70%  |#+ H:28,300
[ JAL JTA 30,000 64% | A A£:31,300, 7k:28,100, £ H:32,100
PR (ARER) =1L iR (IRER) RIR(PH) JAL JAL 21,400 67% | H:26,400
PTG JAL JAL 22,000 71% | A7KXK:20,900, £ +:24,600. H:26,200
iz 5 RIR(PFH) JAL JAL 21,000 68% & 1:27,100
PTG JAL JAL 22,000 71% | A7KA:20,900. £ H:24,600, 1:25,400
PRI =E B (IRER) &2 JTA JAL 23,300 71%  [£:23,200, £:23,900, H:25,000
PTG JAL JAL 20,900 72% 1,700, £:21,800, H:22,500
IN=§:3 1= JAL JTA 24,600 70% 5,100, £:25,400, H:25,800
PTG JAL JAL 21,500 71% :22,000, H:21,400
R (IRER) = /e P8 (IRER) ESACTD) JAL JAL 20,900 71% 1,700, £:20,400. H:26,900
INEAFE RIR(FH) JAL JAL 20,100 72% 6,200, 1:25,700, H:21,200
B (ARER) ==& B (IRER) & [ JTA JAL 24,300 59% 4,100, £:24,800, H:25,200
S =5 JAL JTA 24,700 58% £ H:25500
PR (ARER) =#AL B (IRER) & ] JTA JAL 20,100 64%  |$:19,900, 1:20,600, H:21,800
[NITES & [l JAL JTA 21,200 62% | £:22,500, H:22,000
RRECHA) =EXXE RRCPIHE) % BRE JAL JAL 25,300 64% | A H:25700, :26,000, £:26,400, 1:28,200
PTG JAL JAL 29,500 56% | +:30,400, H:29,600
BEKEH BRE JAL JAL 26,500 63% | F:28,200, :26,900, £:30,200, H:28,900
PTG JAL JAL 31,300 53% | £:30,500, H:30,600
RR(PH)=ERSE R CPIHE) % BRE JAL JAL 26,500 63% | +:28,400
[EPNC) JAL JAL 22,500 65% | H:23,500, 7K:21,700, Az + H:24,100
EREHR BRE JAL JAL 26,500 63%  [£:29,800. £:29,200, H:30,100
BEAE JAL JAL 22,500 65% | H:25,200. 7K:21,700, H:24,100
RECPA) =125 RRCPIHE) % BRE JAL JAL 28,200 62%  |£:29,300, £:31,100
N JAL JAL 24,700 64% | F:25,700, 7K:23,900, A% +:26,300, H:25,500
(P A=E BRE JAL JAL 29,000 61% | H:29,800, H:31,000
RIR (CFIE) =ik RER RECPH) % ERS JAL JAL 28,600 63% [ A:30,100, K£::30,600. £:32,300. H:29,000
Sk BERE BRE JAL JAL 27,800 64%  7K:28,200, A:28,600., £:32,300, H:31,800
RER(PHE) =5 RERECPH) % BRE JAL JAL 29,500 63%  |£::30,600., £:32,400
S5Hh% BRE JAL JAL 29,500 63% | H:32,000, £:31,100, H:32,700
BRE JAL JAL 22,900 60% | A£:23,000, +:23,200, H:24,100
KR (B =E£XE EEXER BRE JAL JAL 24,300 57% | F:24,500, K:24,900, £:26,500, +:23,900, H:25,300
KR (BFH=ER8 KR (B F) % BRE JAL JAL 25,300 57% | AJ/KAKH:25700, £:26,100, :26,300
EEXE JAL JAL 27,600 47%
EREH BRE JAL JAL 25,500 56% | FA:25700, £:26,100, +:25,100, H:26,500
EEXE JAL JAL 27,600 47%
KR(FF =25 pNACG T 0E BERE JAL JAL 26,600 57% £ H:27,000, 1:27,400
(AT ERS JAL JAL 26,800 56% | A A:27,000. £:27,400. £:26,400. H:27,800
EEXE JAL JAL 29,800 47%  [%:30,200
KR (B =K BE KR (B F) % BRE JAL JAL 26,600 59% | A7KA:27,000, £ H:27,400, 1:28,000




JAL/JTA/RAC

hr =y “
[EMEI5|28 EER (5198 ~5A31BEES)
EEERA 4/28/2021
= o Sk
=P BHaid RERH 5/19-31 Eﬁh;;’g mE
XED X =
K RERFE BRE JAL JAL 27,200 58% | A7K:27,600, A:28,200. £ H:28,600
KB () =5% KR (A % BRE JAL JAL 27,900 58% | HJ/KAH:27,700, £:28,100, 1:28,700
EEXE JAL JAL 33,400 48%
S5ih% BRE JAL JAL 28,100 57% | H7:28,300, £:28,700, 1:27,700. H:29,100
ERE=EEXXE 12 5% BRE JAL JAL 18,500 61% [F:18,900, £:16,900, H:18,600
EXREH ERS JAL JAL 20,600 57%  [K:21,000. £:22,200, £ H:19,000

BE=E85 EEEES BERS JAL JAL 22,200 55% |+ H:20,600
EEXE JAL JAL 21,300 55%
EREH BEXS JAL JAL 21,300 55%

BE=1Ez5 F=ES BERS JAL JAL 23,100 55% | £:21,500, H:21,900

EEXE JAL JAL 23,500 55%

(AT BERS JAL JAL 23,100 55% |+ H:21,500
EEXE JAL JAL 23,500 55%

B =5k HimF BERS JAL JAL 24,400 57% |+ H:22,800
EEXE JAL JAL 27,100 54%




JAL/JTA/RAC

hr =y “
[EMEI5|28 EER (5198 ~5A31BEES)
EEERA 4/28/2021
= o Sk
=R @D RS 5931 BEY iz
XED X =
RRPAHE)=51E RECPH) % AiE JAL RAC 26,900 66% £ H:29,400
5ME 5 (AR RAC JAL 25,400 68%
fiE RAC JTA 26,900 66% |+ H:29,400
KR () =5 HE SMEFE (AR RAC JAL 31,400 57% | A:31,700. £:28,900, £:28,800, H:30,100
KR (BE#8) =5 HE EME 5 (AR RAC JTA 31,400 57% | A:31,700. £:28,900, £:28,800, H:30,100
fiE RAC JTA 16,300 76% | F:18,200, £:16,900, H:21,000
AhR (B8 ) & AiE JTA RAC 20,400 70% B #£1:23700
ZHE (FE) =5HE BEE (FER) F AiE JTA RAC 25,100 66% |+ H:27,600
5MEF PR RAC JTA 26,000 66% & 1:28,800, H:30,200
fiE RAC JTA 25,100 66% |+ H:27,600
B =58E SMEFE TR RAC JTA 23,800 63%  [£:23,600, £ H:24,300
B () =5 BE B (IRER) 5 AiE JTA/RAC| RAC 11,000 72%
SMEFE AiE RAC [JTA/RAC| 11,000 72% |A$£1H:11,200
RRPHE)=AXE RECPH) % TR JAL | JTA/RAC| 19,200 67%  |$:24,500, 1:25,100
AKEFE SP#E(ARER) | JTA/RAC|  JAL 19,200 67% | H:24,500
KR (BFH) =AKE KPR (2 FH) 5 8 (FRER) JAL | JTA/RAC| 23500 54% | F:24,900, £:25,000, £:27,000, H:23,000
AKREFE SP#E(ARER) | JTA/RAC|  JAL 23,600 54% | F:25,00, K:23,800, £:23,500, +:23,300, H:25,400
KR (BEFE) =AXKE KBR (BEFE) & (AR JTA | JTA/RAC| 23,500 54% | F:24,900, £:25,000, £:27,000, H:23,000
AKREFE SP#E(ARER) | JTA/RAC|  JTA 23,600 54% | F:25,00, K:23,800, £:23,500, +:23,300, H:25,400
LHE(FE) =AXE ZEE(FEDF | B GRHR) JTA  |JTA/RAC| 17,200 70% | A% H:20,000, 1:21,400
AKEF SPEE(ARER) | JTA/RAC|  JTA 18,800 67% [A#£1:20,300, A:19,400. H:21,400
BRE=AXE [EGES 8 (FRER) JTA | JTA/RAC| 17,200 61% |+ H:17,900
AKEFE SP#E(ARER) | JTA/RAC|  JTA 16,700 62% |+ H:17,500
RIR (FIHE) =R R (CPIHE) % KRB R FH JAL JAL 20,100 61% | K:20,600, £:20,400, £:19,500, H:19,200
He JAL JAL 19,500 59% | HJKH:19,900, £:20,700, £:21,300
[ ¢ KRB R FH JAL JAL 19,800 61%  |$:19,700, £:18,900, H:19,500
He JAL JAL 20,600 56% | F:20,700, 7K:21,000, A% H:21,100, £:21,500
R (R =8 B (IRER) 5 KRB R FH JAL JAL 18,700 74%  AAH:19,000, £:20,700, £:19,700
PTG JAL JAL 17,700 75% | B AZ:17,900, £ H:19,000
12 = IR FHFR) F=ES RE(CHHA) JAL JAL 31,000 61% | H:32,000, A:33,000, £:37,500, +:33,400, H:29,000
RE(CHHA) JAL JAL 29,100 64% | F:29,400, K:31,200, £:36,800, +:32,700, H:35,100
ZEE (FEB) =8I ZEE(FEDFE | REGPH) JAL JAL 23,400 64% | K:24,200, % 1:26,200, H:22,300
SpgsE RIR(FH) JAL JAL 22,100 66% |$£:22,900, 1:23,000, H:22,300
ZHE(hE) =%/ ZEE(FEDFE | REGH) JAL JAL 19,200 70% | A$:19,600, £:20,400, H:20,900
HIRFE RIR(PRH) JAL JAL 19,200 70% | A 1:19,600. H:20,400
ZEE (FER) =)l ZEE(FEDFE | REGPH) JAL JAL 20,200 69% | H:20,600, AK:21,900, £:22,200, £:21,400
JENTE RIR(PH) JAL JAL 19,000 71% | A$1:19,400, H:20,200




[EMENS5(28 NEEXR(5A198~5A318EFES)

EEERA 4/28/2021
= o I adh
=R @D RS 5931 BEY iz
XED X =
BHE (FEB) =R ZEE(FEDFE | REPH) JAL JAL 18,600 67%  |K:18,800. £:20,000, £:20,100, H:19,900
ENEESE BIR(FH) JAL JAL 19,800 65% | A%:20,200, 1:19,400, H:21,800
A& =% Bl B33 RIR(PH) JAL JAL 23,700 73% | FA:24,100. £:24,900, £:25,000, H:28,000
S E] RE(CHHA) JAL JAL 22,700 74% | F:23,100, £:23,600, £:23,400, H:26,400
B =25 S RIR(FH) JAL JAL 26,100 68% | H:26,500, %:27,100, £:28,100, H:29,200
s lE] RE(CHHA) JAL JAL 25,200 69% | F:25,600, £:25,900, £:24,300, H:28,400
BE =% EEH RIR(PH) JAL JAL 24,200 70% | FA:24,600. K:24,500, £:24,800. £:24,100, H:26,300
S E RE(CHHA) JAL JAL 23,400 71% | F:23,800, £:25,300, £:22,600, H:25,100
B =% S RE(CHHA) JAL JAL 25,100 70% | H:25,500, £:26,200, £:27,300, H:27,700
S lE] RE(CHHA) JAL JAL 25,800 69% | F:26,200, £:26,100, £:24,800, H:28,000
b AN =% 5 B JE R (CRH) JAL JAL 27,600 69% | F:28,000, £:28,200, 1:28,400, H:27,800
i Al FE RIR(PH) JAL JAL 27,500 69% [H:27,900. £:28,200, H:31,900
K== @5 o5 RIR(FH) JAL JAL 27,600 68% | H:29,700. A:28,000. £:28,700, £:29,900, H:32,100
i Al FE RE(CHHA) JAL JAL 27,400 69% | A £:27,800. £:27,900. H:30,500
R =25 RIGSH RE(CHHA) JAL JAL 27,600 70% | F:28,400. 7K:27,200, K:27,500. £:28,700. £:28,900
i Al FE RIR(FH) JAL JAL 27,400 70% | H:27,800, % 1:28,200, H:30,300
REAR=2E REARF RE(CHHA) JAL JAL 27,600 69% [ F:28,400. 7k:27,700, K:28,000. £:29,600, £:29,300
s e RE(CHHA) JAL JAL 27,400 69% | F:27,800, £:28,200, £:27,700, H:31,000
B =25 B SE RE(CHHA) JAL JAL 26,700 70% x:27,200, 1£:28,200, H:29,600
i Al 5 RE(CHHA) JAL JAL 26,500 70% | A £:27,400. £:26,900. H:30,600
BERE=%E5 BER S % RIR(PH) JAL JAL 27,200 70% | F:28,400, A:27,600. £:27,900, £:29,700, H:32,100
s E] RE(CHHA) JAL JAL 25,400 72% | F:26,400, £:26,800, £:27,700, H:30,800
8 (ARER) =% Bl B (GIRER) 5 RIR(PH) JAL JAL 25,800 72% A AZ:26,200, £:26,500, H:33,700
s e RE(CHHA) JAL JAL 23,900 74% | F:24,300, £:25,400, £:27,800, H:28,300
WRFTFR) =CEXKE |ABEGFFRH | RRCAA) JAL JAL 29,700 67% | F:30,900, 7k:28,900, &:31,600, £ +:31,400. H:30,100
EXREH RE(CHHA) JAL JAL 29,000 68% | H:32,200, 7K:28,200, %:29,400, £::32,600., +:28,500
BEHR=EEXE EHRR HRE(HH) JAL JAL 28,800 67% | H:29,800. 7K:28,000. A:30,400. £ +:31,000, H:30,200
EEXREH RE(CHHA) JAL JAL 28,800 67% | A:31,500. 7K:28,000, £:30,200, H:31,800
MEH="EXXE FEF ESACTD) JAL JAL 30,800 62% | F:31,800. 7K:30,000, K:32,400. £:33,100, £:27,100
EXREH RE(CHH) JAL JAL 29,400 64% | F:32,100, 7K:28,600. £:30,300, +:25,100, H:26,700
INA=FTEKE INAFE RIR(FH) JAL JAL 25,000 68% [ F:26,000, 7K:24,200, A& %::26,600, £:26,200, H:25,400
EXREH RE(CHHA) JAL JAL 25,000 68% | H:27,700. 7K:24,200, £:24,600, H:26,200
IMA=TEHREIE INAFE RIR(PH) JAL JAL 23,400 60% 4,200, 1:23,800. H:23,000
At EER RE(CHHA) JAL JAL 23,500 60%  [#£:25,100, £:23,000, H:25,000
WA AR =8I WA & RE(CHHA) JAL JAL 27,000 68%  [K:27,800. £:30,200, £:29,800, H:27,600
Sk s RIR(FH) JAL JAL 25,300 70%  [£:26,300. £:25,400, H:27,400
B =8I S RIR(FH) JAL JAL 29,400 62% | K:30,200. £ 1:32,900. H:28,800
Sk s RIR(PH) JAL JAL 28,800 63%  [£:30,000, £:27,400, H:29,400
EE =8I BEF RIR(PH) JAL JAL 27,500 65% | K:28,300. £:30,300. 1:28,900. H:25,900
Sk 5 RIR(PH) JAL JAL 26,900 66%  |£:28,500., £:25,400, H:24,700
=& =8I e RIR(PH) JAL JAL 28,400 65% | AK:29,200, £:32,000, £:32,100, H:27,300
Sk s RIR(PH) JAL JAL 29,400 63%  |£:30,200, 1:26,900, H:29,000
JE A =% AN RIR(PH) JAL JAL 30,900 64% | K:31,700, £:34,000, £:33,200, H:29,600
Spg5E RIR(PH) JAL JAL 31,100 64% 32,300, 1:29,500, H:32,900
Ko =1 o5 RIR(FH) JAL JAL 30,900 64% | H:32,600, K:32,000. £:34,600, 1:34,700, H:31,700
Fi i RIR(PH) JAL JAL 30,100 65% |$:32,000, 1:31,000, H:31,500
Rl =4I RIGSH R (CRH) JAL JAL 30,900 65% | F:31,000. 7K:30,500, #:31,300, %:34,200, 1:33,700
Sk s RIR(PH) JAL JAL 29,700 67% [ A:30,000, K H:29,900. £:31,300. £:30,100
RBAR=8I% REARF R (CRH) JAL JAL 30,900 64% | F:31,300. 7K:31,000, 7:31,800, %:34,900, 1:34,100
Spg5E RIR(FH) JAL JAL 30,000 65%  |£ H:31,200. £:30,100
= =4I EF RIR(FH) JAL JAL 30,000 65% | K:30,800. % 1:33,000, H:29,200
Sk S RIR(PH) JAL JAL 28,500 67% | F:28,800. £:30,500., £:29,300, H:29,000
ERE=4I% BeR &% RE(CHHA) JAL JAL 29,800 66% | /<:30,600, £:32,600, £:34,500, H:31,700
Fi i RIR(FH) JAL JAL 27,700 69% | H:29,600, £:30,900, 1:28,600, H:31,800
PR (AR ER) =8I B (IRER) R (CRH) JAL JAL 25,400 72% | H:25,700, :26,200, £ 1:28,200, H:34,000
Fi a5 RIR(PH) JAL JAL 26,700 71%  $:29,000, 1:28,000, H:29,300
FEEEN LB% RIR(FH) JAL JAL 26,300 67% | A A:26,700. £:27,700, £:24,700. H:27,200
HIRFE RIR(FH) JAL JAL 25,100 68% | H:25,500, A:25,300, £:27,800, 1:26,900, H:25,200
IWAFE="HIE A& RE(CHHA) JAL JAL 23,700 72% | A A:24,100. £:25,500, £:24,300. H:28,500
HIRFE RIR(FH) JAL JAL 23,000 72% | F:23,400, £:23,600, 1:22,600, H:26,100
W=k S RE(CHHA) JAL JAL 26,100 66% | A A:26,500, £:27,300, £:27,100. H:29,700
HIRFE RIR(FH) JAL JAL 25,900 67% | F:26,300, £:26,800, £:27,200, H:27,500
mE=%k EEH RE(CHH) JAL JAL 24,600 68% | HA:25000, £:25400, +:24,300, H:26,800
HIRFE RIR(PH) JAL JAL 24,600 68% | A K:25,000, £:27,800, £:25,500, H:23,800
EEELDN S RIR(PH) JAL JAL 24,200 70% | FA:24,600. K:24,500, £:26,000, £:26,300, H:28,200
HIRFE RIR(PH) JAL JAL 26,500 67% | FH:26,900, £:27,500, £:27,700, H:27,100
RN =HIE AN RIR(PH) JAL JAL 26,700 69% | H:27,100, % 1:27,400, H:28,200
HIRFE RIR(PH) JAL JAL 28,300 67% | A K:28,700, £:30,000, £:30,400, H:31,000
R =%k K% RIR(PH) JAL JAL 28,100 67% | F:28,800. K:28,500, £ 1:28,900. H:32,600
HIRFE RIR(PH) JAL JAL 28,600 66% | A 7:29,000. £:30,300, £:30,700, H:29,600
RiG=%Ik RIGSH RIR(PH) JAL JAL 28,000 68% | F:28,900. 7K:27,600. £:29,300, +:29,100, H:31,400
HIRFE BIR(FH) JAL JAL 28,600 68% | AAH:29,000, £:30,700, £:31,100
REAR=%k REARF BIR(FH) JAL JAL 28,100 67% | F:28,900. A:28,500. £:30,200, +:29,300, H:33,400
IR FE R CRH) JAL JAL 28,600 67% | A 7:29,000. £:30,700. £:30,600, H:29,900
BE=%5 EIF RIR(FH) JAL JAL 26,800 69% [ A A:27,200. £:27,700, £:28,700. H:30,100
RS RIR(FH) JAL JAL 27,700 68% | H:28,600, A:28,100, £:29,900, 1:29,800, H:29,300
BRE=FK BEREH RIR(FH) JAL JAL 27,700 69% [ F:28,900. K:28,100, £:28,500, £:28,700, H:32,600
wIRF RIR(FH) JAL JAL 26,600 70% | H:27,700, A:27,000, %:28,300, 1:30,600, H:29,900
B (FRER) =R B (IRER) RIR(FH) JAL JAL 26,300 71%  [AA£:26,700, £:27,100. H:34,900
HIRFE RIR(PH) JAL JAL 24,700 73% | AXK:25,100, £:27,500, £:30,300, H:27,400
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B =5 JBJIIFE BIR(FH) JAL JAL 26,500 66%  F:26,900, $:27,300, 1:26,600, H:28,100
S BIR(FH) JAL JAL 26,800 66% | FK:27,300, £:28,600., 1:27,800, H:29,200
HiE=mE0 [y RIR(PH) JAL JAL 26,500 62% | FH:26,900, £:27,300, £:23,800, H:28,900
S RIR(PH) JAL JAL 22,700 67% | K:22,900, £:25,200, £:25,300, H:24,700
HE=1E5 ENEESE RE(CHHA) JAL JAL 24,600 65% | H:25,000, £:25,800, £:21,800, H:24,200
BEF RIR(PH) JAL JAL 22,700 67% | KH:22,900, £:24,100, £:22,800
HEE=EH [y RIR(PH) JAL JAL 25,400 65% | A £:25,800. £:23,300. H:27,600
S RIR(FH) JAL JAL 23,600 67% | K:23,800, £:25,800, 1:26,000, H:24,300
EEE=I1LOFH ENEESE RIR(PH) JAL JAL 23,000 69% | F:23,400, £:23,600, 1:21,800, H:26,900
WO AR S RIR(PH) JAL JAL 22,200 71% | K:22,400, £:24,100, £:23,700, H:24,600
RECRB) =2R RECPH) % [ JAL JAL 17,900 66% | F:18,300, :18,800, £:19,400, £:19,100
BRH B JAL JAL 19,500 63% | H2:19,900, £:19,100, H:21,500
ABRUFFH =HER BRH g JAL JAL 21,200 65%
B (ARER) =18 B (IRER) =15 JTA JAL 19,200 68%  [£:19,000, £:19,700, H:19,900
BEF 1= JAL JTA 19,100 68%  [£:18,900, £ H:19,600
BIN=1fES JBJIIFE RR(PH) JAL JAL 24,800 69% | A XK:25300, £:27,300. £:24,900, H:24,100
BEF RIR(FH) JAL JAL 25,300 68% | H:25,800, A:27,000. £:27,300, £:25,100, H:26,300
BJI=K% JBJIIFE RIR(FH) JAL JAL 28,800 66% | A :29,300, £:29,800. £:30,100, H:29,400
o5 RIR(PH) JAL JAL 28,800 66% | F:29,800. A:29,400. £:30,100, £:29,700, H:32,100
IR (R =ER FLIR (2 5 e JAL JAL 17,600 50% |+ H:17,000
BRHE HEE JAL JAL 17,600 50% | H:15,300, H:17,000
IR =R SpgsE L% (L ER) JAL JAL 19,700 53%
ENEESE L% (L ER) JAL JAL 19,700 53%
HlpE==:R HIFR T LR (FEE) JAL JAL 23,700 49% | H:18,800. H:21,000
=R Lig (E¥%) JAL JAL 20,200 57% | H:23,700, 1 H:22,400
FR =R RS L% (L ER) JAL JAL 19,700 55% | F:20,500, £:20,000, H:23,700
ENEESE Li% (FEEk) JAL JAL 22,200 49% | H:18,800, 1:23,700. H:20,000
FIR =8I AR Li% (FEEk) JAL JAL 19,400 59% | H:20,200, £:20,000, H:23,700
HIFR T L% (L ER) JAL JAL 19,400 59% | F:18,800. A%:23,000, £:23,700, H:20,000
ZR=FR =R Lig (E¥%) JAL JAL 19,000 61% | F:19,800, 1 H:23,200
BE=2& BEF & [l JAL JAL 16,200 68% |H:17,100
B 3 i JAL JAL 16,600 67% | H:16,200, sK:17,100, A %:17,500, £:18,300, H:16,700
BHN=ERE [EEES = [ JAL JAL 23,600 51% £ H:22,000
EEI=1eJIl S RIR(FH) JAL JAL 26,600 67% | H:27,000, %:28,300. £:28,600, 1:27,900, H:27,700
JBJIIF RIR(FH) JAL JAL 26,300 68% | H:26,700, £:27,000, £:27,100, H:26,900
WwAFER=hel A& RIR(PH) JAL JAL 24,800 71% | A £:25,300, AK:25,500, £:26,200, H:28,000
JENIES RR(PH) JAL JAL 22,200 74% | H:22,600, £:23,000, 1:21,800, H:25,500
BERE=BII BEREH RIR(PH) JAL JAL 28,400 68% | H:29,700, A:28,900. £:29,900, 1:30,000, H:32,100
HBJIIFE RIR(PH) JAL JAL 26,800 70% | A XK:27,300, £:27,800. £:30,000, H:29,400
RER=18)I| BEARS RE(CHHA) JAL JAL 28,800 67% [ H:29,600. K:29,500, £:30,900. £:30,600, H:32,900
HBJIIFE RIR(PH) JAL JAL 28,800 67% | A 7:29,300. £:30,200. £ H:30,000
HiE=1e)Il B SE RE(CHHA) JAL JAL 27,500 68% | F:28,000, :29,000, £:29,300, +:29,700, H:29,600
JENES RE(CHHA) JAL JAL 27,900 68% | F:28,900. :28,400, £:29,400, +:29,200, H:29,600
RR(PH)=XE R CPIHE) % X JAL JAL 19,400 63%  [£:19,800. £:19,300, H:20,100
& JAL JAL 24,200 58% |£:27,000. £:25,900. H:25,000
KEH BEX JAL JAL 19,300 63% | A1 H:19,700, 7KA:19,400, £:20,500
12 JAL JAL 26,800 53% | £::30,600, +:28,000, H:28,400
KR (#FH =X& KB (~FH) 5 S JAL JAL 16,300 56%
& JAL JAL 17,800 56% | A+:20.400. £:20,000. H:18.900
RESHR S JAL JAL 16,300 56%
2 JAL JAL 17,800 56% | £:20,700, H:20,300
IR (FFm) =XRE FLOR G F %) 5 =) JAL JAL 29,200 61% | H:30,600
KESH =) JAL JAL 29,200 61% | £:29,800, £:30,600
BEXKRE=HKRER EXREH (-] JAL JAL 11,900 57%
ik RERF -] JAL JAL 11,900 57%
Bz &= (BH) (P A=E K B E JAL JAL 15,600 54%
B (IRER) 5 ok BER JAL JAL 15,600 54%
RR(PHE)=EF5 RECPH) % BRE JAL JAL 22,000 63% | A H:22,400, £:23,100, £:24,900
EFEX BRE JAL JAL 23,200 61% | H2:24,900, +:24,200, H:25,200
RROPHE)=BAS RE(CPH) % BRE JAL JAL 22,800 62%  |4:23,900. £:25,700
BABH BRE JAL JAL 22,400 63% | F:23,200, £:24,500, £:24,300, H:24,800
KR (B =BA8 KB (B A % BRE JAL JAL 20,400 56% | 7K:20,500, £:20,800, £:21,200, H:20,200
BABH BRE JAL JAL 20,200 57% | H7A:20,400, £:20,800, :19,800, H:21,200
B2 IR & =ik (BH) BER S % EEXE JAL RAC 23,800 55% | F:24,300, H:25,500
48 GIRER) 3 BEAE RAC JAL 25,500 52%  |K:25,900, £:27,100
BE=BAS [EGES BRE JAL JAL 16,500 56% |+ H:14,900
BAEH BRE JAL JAL 16,500 56% £ H:14,900
EE=1FE R BRE JAL JAL 16,900 53% | H:17,300, £:15,300, H:15,700
EFEX BRE JAL JAL 17,300 52% | +:15,600, H:15,300
&=l INEES RE(CHHA) JAL JAL 27,000 66% | A A:27,500, £:28,400, £:26,000, H:27,200
JENES RE(CHHA) JAL JTA 25,300 68% | H:25,700, K:25,600, £:27,300, +:26,300, H:25,500
ANTTE] NI &2 JAL RAC 18,500 60% [A:18,000, £:19,400, H:18,400
B SE 1= JAL JTA 17,200 63% | A:17,600, £:18,500, £ H:18,400
hR(BB) =EXKE B (IRER) 5 5if RAC JAL 16,000 59%
EXAEH 5if JAL RAC 16,000 59%




